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I | 910—13 [ 9.00—13 | 9.18—21 | 9.18—21 | 9.18—21 | 925—28 | 925—28 | 9.18—21 | 9.18—21 | 9.18—21 | 9.11— 14 | 9.11 — 14
1 |PCBM 280 180 610 300 290 93 75 290 190 130 280 160 3.9 12
1-1 E A== Y | 9.1 4.1 3.8 2.7 4.0 9.4 3.5 2.5 5.8 4.6 5.1 3.3 0.13 0.39
1-2 DYA=R=R0 Y ¥ | 68 50 42 67 51 28 21 46 57 36 70 42 1.6 4.9
1-3 A=A E=y” | 64 49 61 140 140 35 26 120 63 41 92 58 1.6 4.8
1-4 FhIZune 7 ==/ 43 40 88 61 69 12 14 72 33 26 70 32 0.35 1.0
1-5 Ny g rune 7 ==/)VH 60 26 230 23 20 5.3 8.0 35 23 15 32 16 0.10 0.31
1-6 ~AFH oo =)V 31 7.5 140 5.6 5.6 2.4 2.4 14 7.7 5.2 7.1 5.2 0.04 0.11
-7 ANFE7ur 7 =V 4.9 0.87 39 0.74 0.70 0.54 0.32 3.7 1.2 0.84 0.87 0.85 0.01 0.03
1-8 FrEsunE 7 ==)VH 0.56 0.09 4.0 0.08 0.08 0.07 tr(0.04) 0.53 0.14 0.09 0.10 0.10 0.02 0.06
1-9 JFrune 7 ==V 0.05 nd 0.15 nd nd nd nd tr(0.04) tr(0.03) nd tr(0.02) tr(0.03) 0.02 0.05
1-10| FHrmpbEr=z== 0.021 1r(0.009) 1r(0.012) 1r(0.010) 1r(0.010) nd nd 1r(0.015) 1r(0.018) 1r(0.016) 1r(0.016) 0.022 0.008 0.021
1-4-1 3,3’ 4,4’ -7 h77unt 7 =)0 (§77) 1.4 0.49 2.3 0.40 0.49 0.082 0.075 0.41 0.26 0.18 0.36 0.22 0.006 0.016
1-4-2 3,4,4’ ,5-F I /a7 ==L (81) 0.062 0.026 0.080 0.025 0.041 nd nd 0.034 0.030 tr(0.016) 0.027 tr(0.018) 0.009 0.023
1-5-1 2,3,3’ 4,4~ A 7maE 7 =)L (#105) 2.0 0.78 6.6 0.67 0.65 0.17 0.20 1.2 0.66 0.43 0.84 0.50 0.006 0.016
1-5-2 2,3,4,4’,5--F7ane 7 =0 (#114) 0.14 0.058 0.53 0.056 0.069 nd nd 0.12 0.068 0.042 0.088 0.047 0.018 0.007
1-5-3 2,3",4,4’ 5B rane 7 - =L (£118) 5.5 1.8 21 1.5 1.6 0.46 0.56 3.1 1.9 1.1 2.0 1.2 0.01 0.03
1-5-4 2’,3,4,4’ 5~ A a7 =)L ($123) 0.14 0.052 0.32 0.043 0.042 tr(0.011) tr(0.014) 0.081 0.054 0.040 0.066 0.034 0.006 0.016
1-5-5 3,3’ 4,4’ 5~ Z a7 =)L (#126) 0.13 0.026 0.22 r(0.018) tr(0.015) nd nd tr(0.018) 0.043 tr(0.015) tr(0.018) tr(0.015) 0.008 0.022
1-6-1 2,3,3",4,4" 5-~FHraal 7 = =/L (#156) 0.26 0.097 1.2 0.084 0.078 0.030 0.024 0.24 0.10 0.063 0.12 0.077 0.007 0.017
1-6-2 2,3,3",4,4" 5’ -~FYroa’ 7 ==L (#157) 0.082 0.023 0.27 0.021 0.017 tr(0.008) nd 0.049 0.030 tr(0.015) 0.031 0.017 0.006 0.016
1-6-3 2,3’ 4,4’ 5,5’ ~~F W raae 7 ==L (#167) 0.21 0.046 0.70 0.041 0.034 tr(0.016) tr(0.014) 0.098 0.048 0.029 0.051 0.035 0.009 0.024
1-6-4 3,3",4,4°,5,5' -~FHrere 7 =/ (#169) tr(0.007) nd nd nd nd nd nd nd tr(0.007) nd nd nd 0.006 0.015
1-7-1 2,2',3,3,4,4",5-~FZrune 7 == ($170) 0.38 0.08 1.9 0.07 0.06 0.04 tr(0.02) 0.32 0.09 0.06 0.10 0.07 0.01 0.03
1-7-2 2,2’,3,4,4’ 5,5 -~7#aor 7 - =L (£180) 0.97 0.16 6.1 0.14 0.12 0.10 0.050 0.80 0.19 0.14 0.17 0.16 0.008 0.021
1-7-3 2,3,3,4,4° 5,5 =~T #ront 7 =)L (#189) 0.016 nd 0.034 nd nd nd nd tr(0.011) tr(0.007) nd nd nd 0.006 0.014
2 |HCB(~Fizmp~iEr) 150 120 110 110 160 100 100 120 140 150 310 180 0.6 1.7
3 |[DDTHE 42 13 13 10 13 3.8 9.3 77 13 14 28 38 0.15 0.47
3-1 p,p -DDT 9.7 4.3 4.7 2.6 4.7 1.4 3.4 29 3.9 4.4 9.8 15 0.04 0.13
3-2 p,p -DDE 26 4.9 5.3 5.4 5.4 1.5 3.3 31 4.9 5.7 9.5 13 0.05 0.14
3-3 p,p ~DDD 0.29 0.21 0.21 0.19 0.17 0.06 0.14 1.7 0.58 0.48 1.0 0.99 0.01 0.04
3-4 0,p’-DDT 4.8 2.7 2.5 1.4 2.4 0.67 2.1 13 2.2 2.4 5.7 7.4 0.02 0.07
3-5 0,p -NDR 0.81 0.41 0.33 0.29 0.38 0.12 0.25 1.2 0.43 0.49 0.69 0.66 0.01 0.04
3-6 0,p’-DDD 0.32 0.24 0.19 0.17 0.18 0.05 0.13 1.2 0.59 0.53 1.6 1.4 0.02 0.05
4 |ZaT U 150 40 53 50 50 14 47 300 280 210 110 99 0.8 2.3
4-1 cis—J VT 47 13 17 16 16 4.4 15 98 88 66 35 32 0.21 0.63
4-2 trans—2 VT 57 15 20 20 19 5.0 19 120 110 80 39 36 0.3 0.9
4-3 FRraLTF 1.8 0.77 0.58 0.72 0.55 0.40 0.55 1.3 1.6 1.4 1.3 1.1 0.03 0.08
4-4 cis—/F7an 5.1 1.4 1.8 1.6 1.7 0.55 1.3 10 9.4 7.9 3.7 4.2 0.05 0.12
4-5 trans—/ 7 35 10 14 12 13 3.5 11 71 69 54 28 26 0.18 0.53
5 |HCH(~FHrmms ro~F4) 5
5-1 « -HCH === === === === === === === === === === === === === ===
5-2 #-HCH === === === === === === === === === === === === === ===
5-3 y ~HCH® 4 V> 5 2) === === === === === === === === === === === == === ==
5—4 0 —HCH === === === === === === === === === === === === === ===
6 |RV7uEVT 2=z —T )V (RFEEIDH10ETOLD) 34 28 12 tr(4) 17 tr(6) nd 11 tr(7) nd tr(5) nd 4 10
6-1 FRERITREY T 2= L —TF VR 1.1 0.5 0.4 0.3 0.5 tr(0.2) tr(0.1) 0.8 0.9 1.1 4.2 1.0 0.1 0.3
6-2 Ry B TUEYT == T —F VI 0.28 tr(0.08) tr(0.08) r(0.08) r(0.09) nd nd 0.24 tr(0.12) tr(0.12) 0.48 0.14 0.06 0.14
6-3 ANXY S U T = —T UEE 0.3 nd nd nd nd nd nd nd nd nd nd nd 0.1 0.3
6-1 AR T T T == — 5 L tr(0.3) nd nd nd nd nd nd nd nd nd nd nd 0.2 0.5
6-5 F IR TuEDT 2= —T VR 0.5 tr(0.1) tr(0.2) nd 0.3 nd nd tr(0.2) tr(0.2) tr(0.1) tr(0.2) tr(0.1) 0.1 0.3
6-6 JFTREDT 2= —F LA 2.4 1.1 0.9 tr(0.3) 0.9 tr(0.4) nd 1.0 tr(0.6) tr(0.4) nd tr(0.4) 0.3 0.7
6-7 FHITBES T == LT—TF )L 29 26 10 tr(3) 15 tr(5) nd 9 tr(5) nd nd nd 3 8
6-1-1 2,2’ AN -F "I EOELIT = e — 5L (HAT) 0.7 0.3 0.3 tr(0.2) 0.3 tr(0.1) nd 0.1 0.5 0.6 1.6 0.5 0.1 0.3
6-2-1 2.2 448 5-~ AT BT T =)L E—F)L (#09) 0.23 tr(0.06) tr(0.06) nd tr(0.07) nd nd 0.15 tr(0.10) tr(0.10) 0.29 tr(0.11) 0.06 0.14
6-3-1 2,2° 4,4 55 -~FY7aEy7r=/b—7 /b (#153) nd nd nd nd nd nd nd nd nd nd nd nd 0.1 0.3
6-3-2 2,2°,4,4 5,6’ - ~FP T uE T =)L —T )L (#154) tr(0.07) nd nd tr(0.05) nd nd nd nd nd nd nd nd 0.04 0.10
6-4-1 gggz 4422::;§§E§;Zi;ti:;‘; Eﬁi;g% nd nd nd nd nd nd nd nd nd nd nd nd 0.2 0.5
5% |[BUARKE (mg/ms) 0.071 0.080 0.049 0.039 0.048 0.070 0.058 0.095 0.096 0.062 0.048 0.034
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